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BACHELOR OF SCIENCE (B. Sc.) 

Term-End Examination 

June, 2024 

LSE-10 : ANIMAL DIVERSITY–II 

Time : 3 Hours     Maximum Marks : 75 

Note : Question no. 1 is compulsory. Attempt any 

six questions from question nos. 2 to 8. Draw 

well labelled diagrams wherever necessary. 

1. (a) Define any four of the following : 4×1=4 

(i) Tetrapod 

(ii) Herpetology 

(iii) Vibrissae 

(iv) Selenodont teeth 

(v) Echolocation 

(b) Differentiate between any three of the 

following : 3×2=6 

(i) Diphycercal and Homocercal tail 
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(ii) Teat and Nipple 

(iii) Axial and Appendicular locomotion 

(iv) Pronephros and Mesonephros kidney 

(c) Match the generic names of the following 

mammals in Group A with their order in 

Group B : 1×5=5 

 Group ‘A’  Group ‘B’ 

(i) Sorex (a) Lagomorpha 

(ii) Dasypus (b) Rodentia 

(iii) Lepus (c) Cetacea 

(iv) Funambulus (d) Edentatea 

(v) Plantanista (e) Insectivora 

2. (a) Explain the important characters of 

mammals that have contributed to the 

success of their life on the land. 5 

(b) Classify mammals upto sub-class. Write 

their salient features. 5 

3. Describe the specialised derivatives of 

integument of vertebrates. 10 

4. Describe the aortic arches of vertebrates with 

the help of diagrams. 10 
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5. Explain the variation in urinary systems of 

vertebrates belonging to different groups. 10 

6. Describe the structure and development of 

pituitary gland in mammals. 10 

7. Describe migration in vertebrates. 10 

8. Write short notes on any two of the following : 

5×2=10 

(i) Mimicry 

(ii) Benefits of Sociality 

(iii) Ancestry and Evolution of Birds 

(iv) Urochordates 
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4×1=4 

(i)  

(ii)  

(iii) 

(iv) 

(v)  
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3×2=6 

(i)  

(ii)  

(iii) 

(iv) 

(c) A B 

1×5=5

 ‘A’ ‘B’

(i) (a) 

(ii) (b) 

(iii) (c) 

(iv) (d) 

(v) (e) 
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5×2=10

(i) 

(ii) 

(iii) 

(iv) 
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